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Q1

Q2

P-A

GENERAL INTELLIGENCE

In the question a staternent is given followed
by two courses of action numbered [ and I1.
You have to assume everything in the
statement to be true and on the basis of the
information given in the statement, decide
which of the suggested courses of action
should be followed.

Statement: A man wants to get admission in
acertain unique elite club,

Courses of Action;

L Findand complete the procedure to get
entry into the club,

[I: Getadmission into anotherclub,

(A) Followl,

(B) FollowIl,

(C) Follow both Land 1L

(D} Follow neither I nor IL

Two statements referred to as Assertion (A)
and Reason (R) respectively are provided.
Select the most appropriate comment about
the statements.

Assertion (A); Methane gas released by
some industries leads to global warming.

Reason (R): Methane is a heavy gas and it

settlesin the Jower regions of theatmosphere.

(A) BothAand Raretrueand R isthe
correct explanation of A.

(B) BothAand R are true but R isNOT
the correct explanation of A

(C) AistruebutR is false.

(D) Aisfalse but R istrue,
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Q3

Q24

Two statements referred to as Assertion (A)
and Reason (R) respectively are provided.
Select the most appropriate comment about
the statements.

Assertion (A); Railway tracks are longer
during the day than at night.

Reason (R): Days are hotter and metal

expands due to heat.

{A) BothAand Raretrueand R isthe
carrect explanation of A.

(B) Both Aand R are true but Ris NOT
the correct explanation of A.

{C) AistruebutR isfalse.

(D) Aisfalse butR istrue,

A statement is followed by three courses of
action numbered 1. 1l and H1. You have to
assume everything in the statement to be true
and on the basis of the information given in
the statement, decide which of the suggested
courses of action should be followed.

Statement; The meteorological department
has predicted that this vear, the rainfall will
be 20% below normal ina particular stase.

Courses of Action:

L Increase tax on water usage by 100%.

il Reduce waterallocated to swimming
pools and resorts.

Ill: The Govemment should reduce
electricity generation and purchase
1,00,000 water tankers.

(A) Followl.

(B) Follow Il

(C) Follow IIl.

(D) Follow Il and 111,

Erariu
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Q6

Q7

Q8

Q9

P-A

Out of the given options, three are similar in
a certain manmer. However, one option is
NOT like the other three. Select the option
which is different from the rest.

(A) UST

(B) QMO

(C) LHJ

(D) IEG

Out of the given options, three are similarin
a certain manner, However, one option is
NOT like the other three. Select the option
which is different from the rest.

(A) Goat

(B) Cat

{(C) Hen

(D) Cow

Select the option that is related to the third
term on the same basis as the second term
is related to the first term.

GIK:FHI: 0QS: ?

(A) MNO

(B) NPR

(C) LMN

(D) KMO

Select the option that is related to the third
term on the same basis as the second term
is related to the first term.
0.16:0.441.21:7

(A 0.1

B 1.1

(Cy 0.011

() 1

Out of the given options, three are similar in
a certain manner. However, one option is
NOT like the other three. Select the option
which is different from the rest.

(A) 216

®) 729

(C) 1331

(D) 324

(3
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(A) MNO
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(A) 0.11
B 1.1
(C) 0,011
(D) 11
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(A) 216

(B) 729

(C) 1331

(D) 324
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Q10

Q11

Q12

013

014

P-A

In the following question, which one setof
letters when sequentially placed atthe gaps
in the given letter series shall complete it?

a yz bz xb xy ¢

(A) xacyz

(B) xacyx

(C) xaycz

(D) axcyx

Find the missing number in the following
number series,
-3.2,-23,-14,05,7,1.3

(A) 0.4

(B) 0.5

(C) 0.6

(D) 03

Here are some words from an artificial
language.

‘zuvtim' means 'careless’,

utlim'means "careful’ and

kutnol' means helpful',

Which word would mean helping'?

(A) Fimol

(B) Gifkut

(€) Widlim

(D) Gobauy

ITMINARET is coded as JFKXOBQ, then
how will BUY becoded 7

(A) YRV

(B) ZBD

(C) EHK

(D) LOR

In a certain code language, '+ represents ',
! represents represents = and '='
represents -, Find out the answer to the
following question.

2= +3+10x5="7

(A) 25

(B) 17

(C) 9

(D) 14

LN I |
.r._

QI

Q11

g Q2

Q13

014

Frefoftan s & sisnt 3§ & 89 W
WiE Ry % el @ guer ¢ Raw
BIHAT BT YT TNAT?

a_yz bz xb xy ¢

(A) xacyz
(B) xacyx
{C) xaycz
(D) axcyx
Frfalea wern gaen 4 ga e
T

-32,-23,-14,-05,7,.13

(A) 0.4

(B) 0.5

1C) 0.6

(D) 0.3

78t 1@ ohm wm B g 7= Ry
gl

‘zuviim® & 34 & ‘careless’,

“kutlim® &7 3¢ § *careful’ 3w

‘kutnol” @7 3% & helpful';

5% we & 39 ‘helping’ Brm?

(A) Fimol

(B) Gifku

(C) Widiim

() Gobzuy

gl MINARET %1 JFKXOBQ @ &7 §
@¢ g & & @ BUY 9 faw
W e qg [T e

(A) YRV

(B) ZBD

(C) EHK

(D)} LOR

g Fif¥es o wmr | 4, ' @
sfafifee &war 8, '+, '+ @1 vfaff
Fvare, -, '+ @ i s @ ol
! W el s &) Posfefea
WE & Toay §d @
12-9+3+10%5=7
(A) 25
(B) 17
(€ 92
(D) 14
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Qlé

QL7

QI8

P-A

IFA@ B means A is the daughter of B, A#
B means A isthe sisterof Band IfFA* B
means A is the father of B, then what does
W S@X * Y # Z mean if W hasone brother
and one sister?

(A) Zisthe grandsonof X.

(B) Zisthe granddaughterof X.

(C) Zisthe brotherof X.

(D) Zisthe sonof X.

M said to N. “You are my daughter-in-law’s
father-in-law's mother-in-law's son." How
is N related to M7

(A) N isthe brother-in-law of M.

(B) N isthe father of M.

(C) Nisthesonof M.

(D) N isthe brother of M.

A motorcycle is going westwards. ltmakes

a 45° tumn to its left and goes for 3 km. It
then tums 90° to its left and goes for 2 km.
It then makes a 1807 turn. Inwhich direction
is the motoroyele going now?

(A) South-east

(B) Norh-west

{C) South-west

(D) Morth-east

Two bikers Pand Q start from the same point.
P rides 8 km northwards, then turns
westwards and rides 6 km, then tums to his
right and rides 4 km. Q rides 4 km
westwards, then turns northwards and rides
12 km, then turns to his right and rides 9
km. Where is Q now with respect to the
current position of P?

(A) 11 km westwards

(B) 11 km eastwards

(C) 19 km eastwards

(D) 19 km westwards

015

Ql6

Q17

QIB

MA@ BFITRABH DAL
AtBE ol A, B 2 as B Ak afe
AtBaiadtABwrRarg m
WS@X*Y#Z @ amapf g afg w
& UH W IR gw awn &7

(A) Z, X @1 wrar/wann |

(B) Z, X @ g/ &)

(C) Z.X 1 g 21

(D) Z. X 1 95 2

M AN & @8 e 4l 75 D w )
| @ A g1 N, M § B walg 87
(A) N, M &7 e 8 |

B) N, M @1 foer &

(C) N,M &1 4 §|

(D) N, M & wiE &1

v AemEihe gftey R 4 o @
# | 38 adl 9 ol 45° gadh & afiR 3
km @ 21 f5e 78 3 ag afiw 900
wewd 2 km ol 8, T w8 180° TE0
2| srevEfve sm fa G § @ w
14

(A) affm—ua

(B) Ter-9idad

(€ EEyo—ufday

(D) S

&) agad Pal QU € fig & g6 7
¥| pow @ A% 8 km A1gw =N B,
e uftem @ SR goa1 & 3N 6 km
argm T, e A uE SN JEa
4 km T13% garrar &, Q Ii¥EH # & 4km
ag® Tl ©, [ SwR @ 3 12 km
qES a8, e @ 91 3N g8an
9 km WEH Ho| & | Q, P& e ®F
& wed F e 87

(A) 11 km qf¥as ¥

B) 11 kmyd ¥

(€) 19kmTd #

(D) 19 km uf¥em
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Q19 A E.L, B land T are 6 points marked on &

map. Ais 10 km 1o the east of B which is |0
km to the north of E, which is 10 km 1o the
east of T, which 1 10 km to the north of L,
which is 10Kkm ta the north of B which is 20
km to the west of . Where is A with respect
to I7

(A) 30 kmtothe north of'l

(B) 20 km tothe north ofl

{(C) 30 km to the south of |

(D) 20 kmto the south of

If I6HE = 10; 15#3 = 25; 1684 = 20); then
find the value of 1244,

(A) 16

(B) &

{C) 15

(D) 4

Fromthe given alternatives, select the number
which can be placed in place of the question
mark (7).

(7] 7 1]
l2]=m[3]|[8]ml2][o]2]5]
g L4 L3]

(A) 18
(B) 8
(C) 56
(D) 64

From the given altematives, sclect the number
which can be placed in place of the question
mark (7).

6

| ) B |

=t | 00|~ | B

5
9
?

(A)
(B)
(C)
(D)

oy ee

BOi0e4Y

Q19 A E LB 18IR T 50 6 Mg w wmftm

4¥ sifd fFg 710 &) AP g F 10km
WE MESG T d 10kmWE AT
F Y H 10km T &, @ L& S 8 10
knWWE FTBE Iam A 0kmw & &
13 gi¥em 5 20 kmuv &) 19 waw i A
TEl 87

(A) 19 30km 9w §

(B) 19 20 km Fwiw 9

(C) 19 30 km feyr §

(D) 19 20 km &fEor #

uft 1648 = 10; 1543 =25; 1644 =20; &
1204 T W FRT 9 |

(A) 16

(B) 8

) B

(D) 4

fan v [Beeyi § 9§ 9% Wen a7 9
& Ry wefees (7) & s W v o
Henel &1

7] (7] (1]
l2[5]3]/8|mz2]|[3]2]5]
] a 3
(A) 18
(B) &
(©) 56
(D) 64

o 0 %l § ¥ 99 wEm ® uaA
&% Rorft weeftres (7) & s v v on
aaRn & |

=Moo

bl | w0
o | e

(A) B

B) 6

(C) 3
(D) 2
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QI3 The given Venn diagram shows the number
of resumes and the hobbies listed in them
by the applicants. How many applicants
have a hobby of either singing or reading
but NOT of trekking?

U=60

(A) 28
(B) 2
(C) 38
) 17

(24  Which of the following Venn diagrams best

represénts the relationship between Europe,
Paris and France?

(A)

(8)

()

(D)

BBHEO

P-A

Q23 f&v Ty 39 amder ¥ sdeEt o & T
g @1 Wi ai ot adtag ot ot
oy &) Fos andest & @ 9
T &1 g1 YA &1 Uib B, oidT ofdmn
1 ¥ Al 87

W e | U=60
[2)
N

2

(A) 28
(B8) 2
(C) 38
(D) 17

Q24 = 3 9 I W a9 a4

afte wiw & 49 waul & 6 T
wfafite s g7

.©

o ([0
&
O

QO

(D)
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Q26

P-A

The bar graph shows average marks scored
by studéents of four divisions of the 10th
standard in two tesis-Literature and
Grammar., If divisions A and C have 55
students each and B and D have 45 students
each, then the average of the marks scored
by all the four divisions in Literature and
Grammar will be

Avmrage etk scorsd by museas

(A) 315
(C) 32

(B) 305
(D) 33

The given table shows the salary and bonus
paid at company X by designation. What was
the total bonus pud?

Designation Number of| Annusl | Bonus as
Emplovees| Salary in F’Ll'fﬂt?nlalnf
(lakhy | A
Sulary
Mumager 2 1 500
Executive 10 12 A%
Treinee T EEEET

(A) T63.2lakh
(B) T58.4 lakh
(T) T60.8 lakh
(D) T61.6 lakh

yER

uee

Y

Q25 o anv ar wiem, e iR @,

#1081 s @ = el & TRl §E
afste fame Ty after ofs feamar 2| Al
usiT A 2fie C ¥ 3wl | 35 9T § alie
B afie D & wedies # 453817 &, a1 Wl
are it @ w3l weT & el
et @i

lmﬁv.—.‘ i T

it
(A) 315 (B) 30.5
(C) 32 (D) 33

& u% ot a9l X 4 78 @ AN
s fang g e ofiv i 1 i
&) @ e aFm @1 e e
7

ug |wdaRal| affs | affs
& agd | @0 &
= | (Fwe )| ufowa
& W
I
WHEE 2 36 30%
mman| 12 W
uidie 1 2 20%
(A) 2632 @
(B) 384 @i
(C) T60.8 Eid
(D) T61.6 @ME
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Q27 The pie chartshows India’s exports in 201 8.

028

The export of cotton and steel was lesser
than the export of jewellery and software
by

INDIA'S EXPORTS IN 2018

(A) 20%
B) 28%
(C) 24%
(D) 32%

The line graph shows revenues (in lakh
rupees) of two software companies for the
last five years. The last 5 years revenues of
company B were greater than the last 5
years revenues of company A by

s={nimpany & ={ampany i

§88588

Fomryasuims | o T labkha) of sarmpary
R

{(A) 60%
B) 50%
(€) 40%
D) 30%

I

027 wd W @ 2018 F wwa & Paw @
TET &) a3 gEna o1 FaE
¥ Ay sy Hivedr &

W @

2018 & ¥R &1 @AY

GREI e

(A) 20%
(B) 28%
(C) 24%
Dy 32%

Q28 e anvee fe e adt @ o <) diveaw
wmuft & o (o suat 4) famm
# | o B & firgd 5] &7 v B
A & fed sau & o
H afts 1)

(A) 60%
B} 50%
(C) 40%
(D) 30%
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Q29 Thehistogram shows the number of residents

Q30

P-A

ofa housing soviety by age. The number of
residents older than 70 vears is lesser than
those aged between 30 to 60 years by

(A) 60%
(B) 0%
(C) 40%%
(D) 30%

The bar graph shows the average marks
scored in & 100-marks English exam by
students of 7 divisions of Standard X. If the
numberof students in divisions A, Cand D
are 40 and the numbet of students in the other
divisions is 50, then the average marks scored
by Division A is greater than the average
marks scored by Division D by .

(A) 60.00%
(B) 62.50%
(C) 65.00%
(D) 67.50%

i

i2

Q29

Q30

WA 9E & AN U@ AEng
weed @ PRl @ den o g
g1 704 ¥ aftrs ag @ Paf &
W 30 W 60 7Y @ g & Fl A

R R

LD I R

f1 -1t

31 ] - wm =
svlin g fron b g el & v
(A) 60%
(B) 50%
(C) 40%
(D) 30%

oS e X ® 7w @ uEl
FAW 100 3w B g uden F aw
fare e o ofe! @ feam 21 afy
wH A, C Al D # wiEt & gem 40 8
iy arg W) A wrEl @ we 502, o
war A garer At aftea i wwr D
garg st v v s ofef @

It £
!W g b} N
# - 8 ]
4
bo 5
Sl |
]
i B £ 1] £ F &
b1
(A) 60.00%
(B) 62.50%
(C) 65.00%
(D) 67.50%
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Q31 The given tableshows number of students

Q32

P-A

and their class. Division A students are
scholars who geta 25% rebate in fees. In
addition, all girf students get 4(1% subsidy,
If the fee per student per year WITHOUT
rebate or subsidy isT10,000, then find the
total fees collected from the students of these

6 classes for that year.
Division/Standard Bovs | Girls
Division A/Standard 9 | 20 | 40
Division B/Standard 9 | 40 | 35
Division C/Standard & | 20 | 20
Division A/Standard 10| 40 | 20
Division B/Standard 10 20 | 40
Division C/Swndard 10| 20 15

(A) 223.8 lakh (B) T22.61akh

(©) 2214lakh (D) T20.2lakh

The line graph shows the number of students
enrolled in two colleges in last 7 vears. If
each student of college A paid T200/year as
library fees and each student of college B
paid ¥250/year as library fees inthe last 7
years, then the library fees ol the last 7 years
collected by college B is greater than that
collected by college A by

R s T |
g WP D
1 1550 15
€ o .
Rl EOA T g \No
:M" 120 15 1o - [ ]
Huo
‘ L i ] ] L] T 1] 1]
L Wi iy 4 s M @ A
Tt
(A) 25% (B) 20%
(C) 30% (D) 40%

13

031 T Zam ol 3l S mer &

e A gyl §) W A B @
fagar € R e 9 25% 6t ug fred
& gep arfafRen ol orEmEl @ 40%
wferd) frad) 8 1 33 @ gz ar wiend
o it o wew 210,000 81, o 9w ol g

& aEsl o Wil | @ 7w e 9w

WY |
NPT /WS (e asi
T AR 9 20 40
WATT BATASE Y | 40 | 35
WAt O e | 20 | 20
ST ASHTTn 1O | 40 20
wHpT Braraa 10 | 20 | 40
wHT O 10| 20 | 1S

(A) T3 ENE  (B) 216 T
(€) B4 ama (D) T20.2 @

T s w7 el § D wiadl A
AT YET @) W @ wo e | gl
Bl AT W BTE A YR e
& w9 ¥ 3200/ 3% @1 o a2 el
#idw B & weiw o F Red 796t
qraEeE god @ w250/ @ W
e FET 8, o Wil B RaRy e

fiwd 7 aul &) TRIEa BT Hidw A

gaw UEE @ Tl geaen w9
it 8

¥

f

Ei

5 ; Il.l.lm-lﬂ.“llll IIIll-l|llil-rhl.l1

L]
(A) 25% (@) 20%
() 30% (I 40%
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Q33  The piechart shows the breakup of the total

Q34

P-A

expenditure of a software company for the
years 2017 and 2018, 1f the expenses
towards building infrastructure increased by
25%in 2018 as compared to 72 Crore spent
in 2017, find the expenditure of the company
in 2018 towards training and travel.

EXPENDITURE IN 2017

Q33 wid T ad 2017 3R 2018 3 o

Higeamy B9 & 2o wd @ Ry 5
aier @1 Al 2017 % @ fag g 2
S ® garn H 2018 % gfard ¢ra @
Aoy @ &= A 25% 9 ofs &2 & A
2018 % @9 gam e o o &
forg fre wv s @ s @9

2017 & &

(A) 213.33 crore  (B) Z16.67 crore
(C) 15 crore () 217.5 crore

The histogram shows the frequency
distribution of the number of calls serviced
by a call centre in a day by duration (in
minutes) of the calls. Introduction of a new
methodology will decrease the mean call time
by 20%. What will the mean call time be
after the new methodology is introduced?

Arw
s BEREREDN G

L] = L L

[ I A p—
(A) 5.3min (B) 4.24min
(C) 6.3 min (D) 724 min

838188
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Q34

(A) RI333 38 (B) R16.67 T8
(C) TS TE (D) 775 T

AFAtad UF ®id Hew g Sid @
am® (fFel #) @ sgear e fRT 9
W @ifer @ v @ angfer Ravw &
auien & | vw E gafiy a8 & e
T B T 20% § BT B W) i
FARME AW BF B AS Wy @i
waa e g

e o (Tt o,
(A) $3min (B) 4.24 min
(C) 63 min (D) 7.24min
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Q35 Which of the following answer figure Q35 Fr=falaa 3 & 299 9 o= saplo @

patterns can be combined 1o make the Ot ) W sntel 5= o fong wiver o
question figure? E

!—v-l L b
| | {

== ]HE}J m}i__JQEEF[

- - . = = -
= ] ] J
B\ ] E [ | (B } E [ |

) CCOO

[
L]

[
[

© |
{D‘:HFEE# tmEI“IELj'

Q36 Which answer figure will complete the Q36 @FH TR AP weT andfa i Ry
pattern in the question figure? trest @) w3 woie

e

BVl BYa
(A) \;: (A) ﬁ

L=

(B) "_\ ; " (B)
(© ;XU © :
.
L= Y .///
: —
Nl N~q
(D) () \
P-A 13 SERIES-AD
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Q37 A pieceof paper is folded and punched as Q37 ww sngla ¥ g fewn s9am TR §

shown below in the question figures. From e B Py ovd Us BT @
the given answer figures, indicate how it will 3 Swr anpft @, a8 ol T
appear when opened. T @ WM uR ge S feamd Em

Kl ES Gl

On“:’ar:: th;'co
{A:' Fapl 'l:’h':' Fan®
o S o“ o
& 4
g, 2 g, 0
(B) .qu (B) q:[;, |
: o <t
B B BT o
(©) [PZS° (©€) [
o] 5]
X 0 > I}“:\':::' " 3.;"-1 b 5]
(D) S (D) LA

(38 1f a mirror is placed on the line MN, then Q38 =fR v odu 71 Yy MN O &7 Wi,

which of the snswer figures will be the right o @ W Ew s & T8 I W
mirror image of the given figure? e wiv wfafda eef?
; = .d] = 2
e ¥ W
=N

(A) (A)

/Y
n = /]

(B} (B)

W

(C) (C)

()

(D)

A
[
d
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039 Which of the following answer figure Q39 Prefafea # @ 2 @ Sow agly &

tterns can be combined to make the Hed ) e SRy e o forg v o
aees skl
w Q= o (Ua=

ANV o 2 V[
AT COAQ
o0 ~TaD0

Q40 Outofthe given option, three are similar in Q40 Ry Ty Praed) # 4 R @ Mftea

# certain manner. However, one option is wfrd & W § ) erdif, v Rweg e
NOT like the other three, Select the option &1 @1 ave 71 &) oW Roes & 939
which is different from the rest. w9 A & 8
Mx 2 M X Z
(A) WH Y (A) W N Y
s v PS5 V¥
Y V X Y v
AW Z R W
(B) s (B) g
X ¥ P XNk
V. Z W T vzw
P MY P MY
{'D} W s X {D] Wws X
NZV NZV
ravhaer
o
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Q41

Q42

(A) lava

© %

Outofthe given option, three are similar ina

certain manner, However, one option is NOT

like the other three, Select the option which
is different from the rest.

Al AN
HIWY

W N

TV A
Tl gy

B) [vav

&b 5

LAV VA
VYV A
(C) lavw

s 06T

(D)

E+ LA £

Pl SR

= FE
=<

Which of the following cubes in the answer
figure CANNOT be made based on the
unfolded cube in the question figure?

P —

Ok | 1k

@ | <

18

Q41 TRy 71 forehegt 3 3 & faeey v Fifdem
T ¥ W € | STeif, Uan fwea o=
i 9 o T & | 99 Rew @ 9me
T4 Ul S W AT 8|

ADAA

ATOD
(A) lava

ATDY

7 Al
LYVAT
(B vavw

oy AT

C) lavw

®) |2

Q42w arpfy f f5a wm @ wer sl A
Wl B °A @ S 9 A8 dan o
wHar #7

EIEEIIE

@ | s

(B)

(€) ﬁﬂ?

(D)
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Q43 From the given answer figures, selecttheone Q43 ﬂvﬁma‘ﬂ ol A, 9 Al T
in which the question figure is hidden/ ﬁ st @ R wes et Rt / fafea
embedded. Bl

T 1

PCF P

(A) (A)

(B) (B)

i
(©) : (© \|/>

(D) ' (D)

Q44 Which of the following answer figure Q44 Preaiferfe & ¥ wry &) weR g, v

completes the series of the question figure? anpfit @ sz 1 R @ 87
b"’m";"“ o.p g a-ﬂ[‘“k’ ‘

W |o"a @ | "a

® |o%4 ® exq

© "f © ""f

©) “"(: ®) “‘3
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Q45 Consider the given statement and decide

which of the given assumptions isfare implicit
in the statement,

Statement: 'Call us at this number if you
notice the driverof this vehicle driving rashly!
A sticker on the back of s school bus.

Assumptions:

I.  Peoplewill beable tonote the number
when they notice the bus is driven rashly.
The authorities believe that some people
willtake the trouble of nating down the
number and mﬁiaga call when they see
the bus is being driven mshly.

(A) Only assumption | is implicit.

(B) Onlyassumption I1isimplicit

(C) Neither 1nior 11 is implicit

(D) Both land Il are implicit.

11

Read the given statement and conclusions
carefully. Assuming that the information in the
statemient is true, even if they appearto be in
variance with commonly known facts, select
which of the conclusions logically fallow(s)
from the statement beyond reasonable doubt.

Statement: Data shows that 1% of the rich
own 50% of the weulth in country X,

E anclusio m::

I. Therich incountry X are becoming
1. Wealth disiribution in country X 1s
{A) OnlyConclusion 1 foliows.

(B) Only Conclusion l ollows.

(C) Boththe Conclusions follow.

(D) Noneofthe Conclusions follows.

20

Q43

LR VEL

Q46

U A & 9g S "R & 2 e
& gronst # 4 -l o
fAfga 8 /81

W - 4R MY 5 A & aeE &
SeEEl i areT Aan 8y au & o a2
W 4T F e B T a9 B 09
T UH WIHT |

STV,

I &7 T W arRard @ ge dad
& o ey @ Fie @ A e
& | _
sRmRal #t w8 5 g o
W& A DI FUEE W gaR o
1 4 99 gr Ay 7y AR F1 Ae o
ST HIE, B W

(A) Faa grwr 1 kg &)

(B) =aa g i B 3

(€ aa =& I P g

(D) | a1 =41 Falda &)

U T B are a1 P | s i Ry g
81 T ¥ 38 1y ot S v aE ud
Bl A Y 8 s et 9 B e
& 3T 4 ora oY & e/ 9 Pl
Ry Ty we @ aagel w9 W EgE
war/aw 5/8)

1L

ouT : gel Ram & 5 2 X & 1%

apie qr 3 50% wafta @ wfae &)

P

1. X 3 arfre o aifge apiiv air
ie 3w et e 85 o @ §i

L 3% X # o5 91 Raver e 81

(A) #aq Prepd | s e |

(B) @aw Fresd 11 aqemer oy §)

(C) @1 Fresd arprrer ey &

(D) @ Wt Freed arpavor 8
HYr &)
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Q47

Q48

Read the given statements and conclusions
carefislly. Assuming that the information in
the statements is true, even if'they appear to
be in variance with commonly known facts,
seleat which of the conclusions logically
follow(s) from the statements beyond
reasonable doubt.

Statement 1: Some boards are wraps.
Statement 2: All boards are paper.

Conelusion I: All wraps are paper.
Conclusion 1I: Some paper are wraps.
(A) Onlyconclusion I follows.

(B) Only conclusion I follows.

(C) Bothland 11 follow.

(D) Neither Inor I follows,

Read the given statement and conclusions
carefully. Assuming that the information in
the statément is true, even if they appear 1o
be in variance with commonly known facts,
select which of the conclusions logically
follow(s) from the statement beyond
reasonable doubt.

Statement: A loss-making company has won
a5 crore contract in a low-price bidding

system.

Conclusion I: The company will make a
profitthis year as ithas won a large contract.
Conclusion 11: A low-price bidding system
leaves no scope of a high profit margin.
(A) Onlyconclusion | follows.

(B) Only conclusion IT follows.

(C) Both!and Il follow:

(D) Neither 1 nor Il follows.

21

Q47 FEWE 1 2 duEl & aE 1 ey | el

Q48

11 Ry &) wet R g eal B

wa A S A S W S e et

3 fe o w e A wmoE &
-/ Pt afic €38 § WS

R T @t el S99 ST
wwar 2/

COCBEN: K = hely
e 2 w0 A A )

oyt 1w St )

Frepd 11: B Uz W &)

(A) R Frend | aERe s &)
(B) ae Fmtd 1} s S § |
(C) 1 dlre 11 =it argEeer S 8 |

(D) = @l AR IR e 8

79 wea o um owm o A 2 P |
st 1l Ay e &) &y # R Ty oel
T wE A e 8§ WEE Y R R
et 3 Frt e 61 AN @ s A b
FiF—a1/ & Fread By g w5 aeg
w9 W aEaw s /R
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(A) e Pl | RO e €
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Q49 Consider the given statement and decide

Q50

which of the given assurnptions is/are implicit
in the statement.

Statement: The attendance of students of
public schools has increased by 20% after
the introduction of the mid-day meal scheme.

I Amealisanadded incentive to goto
school.

II.  Atendanceat public schools was below
100% before introduction of the mid-
day meal scheme.

(A) Onlyassumption | is implicit.

(B) Only assumption 11 is implicit.

(C) Neither Lnor I is implicit.

(D) Bothland Il are implicit.

A stalement is followed by two arguments,
Decide which of the arguments is/are strong
with respect to the statement.

Statement: Should speed breakers on roads
be outlawed?

Argument |: No, speed breakers are a simple
way to reduce vehicle speed,

Argument Il: Yes, some people fail to see
the speed breakers at night,

(A) Only argument | is strong.

(B) Onlyargument Il s strong.

(C) Neither I nor Il is strong.

(D) Both Iand I1 are strong.

-1 Aye by

Q49

Q50

Legb el cR e I R TR
2w ¥ 5 awomel 1 A FF-0
w3 ffea &8

BT SRR @ HIT B AT %
& A8 Ul el @ urH @) sufefy
A 20% @t gfg g€ )

HRTY:

L e o @ g vem ve sfaRe
WieaET &1

[ BI9E @ Wi @ Ao @) Y
o e el A SuRefy 100% 9
@M o |

(A) Faa uoy | At &

(B) waw arv I e &1

(C) A= l=&n A

(D) 1 afie 11 srf fAifee &)

U e @ arg =1 o faw ry ¥ | Pl
d 5w & waa A B9 w8 af

e 2/ €|

e T WSB! 4T R B e
aifa fmn s afge?

% 1: 7, T @ 0l W o o B
ferg wftiue v A e &)
@ 11 €, To @ W i aies @
2@ ¥ five B 2

(A) ®ad | o 8

(B) daw o | oiga 2 |

(€) a1 A # 0 o &

(D) 1 3 (1 = woga &
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Q51

Q52

Q53

Q354

Q55

Q56

Q57

GENERAL KNOWLEDGE

After the battle of Buxar the East India
Company agreed to pay every
year 10 the Mughal Emperor.

(A) T82lakh (B) ¥26 lakh

(C) T44 lakh (D) T68lakh

The Quit India Movement, or the * August
Movement”, was a movement launched at
the session of the All India
Congress Commitiee by Mahatrna Gandhi
on 8 August 1942,
(A) Surat

(C) Bhapal

(B) Bombay
(D) Ujjain

The Bardoli satyagraha of 1928 was led by

(A) LalaLajpat Rai

(B) Sardar Vallabhai Patel
(C) Jawaharial Nehru
(M Bipin Chandra Pal

India has a land frontier of .
(A) 13,400km  (B) | 1,600 kim
(C) 9.800km - (D) 15,200 km

Which of the following rivers flows through
the Thar desent?

(A) Savitri (B) Mutha

(€) Limi (D) Gima

The highest point in Narth Andaman is the
peak at a height of 732 m.

(A) Deomali (B) Karoh

(C) Saddle (D) Betlingchhip

Which state has a total installed capacity of
12.3 GW electricity production using
renewable sources, as of March 20187
(A) Kerala

(B) Kamataka

{C) Himachal Pradesh

(D) Assam

Q51

Q52

Q353

Q54

Q35

Q56

Q57

T @ g @ W 3w gfem S
e wEE 1 wied @1 A
we @ fag e gl |
(A) TR29@  (B) T26 99
(C) T4H4TmE (D) T68 IFF

e SIS A I 30T SR 8
ApTeE 1942 ) FETeE e A Al
Wiy S AnR & wH f
TETET T TP ST |

(A) T (B) #%

(C) re (D) T

1928 T ARENA TEE BT AGA
A T en |

(A) ST FATAYE T

(B) VWG awen Wl 9o
(C) SRR EH

@) faftm @z ma

AR a1 e A ) Ty 2
(A) 13400km  (B) 11,600km
(C) 9,800km (D) 15200km

Prefaftes @ @ 4 78 ar o
A gy and 87
(A) R

(©) =0

Tl g @ Jead fig 732 mw
feerm qiel &1

(A) Fawreh (B) INE

(C) f= (D) “efermion

®B) oI
L) i

wid 2018 7% TUTel TR & ATHR
farg wrot A ARG Al SEm
Tl 123 GW &e Roeh SamA a9
& e 27

(A) B

(B) FAie®

(C) Rsraa wew

(D) s
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Q58

Q39

Q61

Q63

P-A

The Malanjkhand belt of Balaghat and
Khetri-Singana beft of Jhunjhun are important
mining centres,

(B) alhaninitum

(D) copper

(A) iwon
(C) silver

The tribes are the major tribes
of West Bengal and are mostly séén in the
districts of Bankura and Purulia,

{A) Munda (B) Chenchu

(C) Santhal (D) Jangil

Kodava isan endangered Dravidian language
and the original language of the Kodaguy
district in southern -

(A) TamilNadu

(B) Kamataka

(C) Andhra Pradesh

(D) Kerala

Which of the following countries does NOT
have a coast on the Mediterranean Sea?

(A) Turkey (B) France

(C) Belgium (D) Greece

Which of the following is an Alpine country?
(A) Poland (B) lialy

(C) Spain (D) Greece
Panchayati Raj system was formalised in the
year Amendment to the

(A) 1978 by the 44
(B) 1989 by the 614

(C) 1975 by the 36"
(D) 1992 by the 73¢

‘On August 27, 2009, the Union Cabinet of

the Government of India approved
reservation for women in

Panchayati Raj Institutions (PRI).

(A) 30%
(€) 50%

(B) 40%
D) 60%
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Q38

059

Q60

Q61

Q62

Q63

AR B Feows 83 v gy w
Fre-Rir A & st

G -
(A) el (B) E_Fg‘ﬂﬁﬁ'l
(D) T

(€) i
mﬁiﬂwﬂﬂﬂmaﬁuga

sl § AR e aimer aw

goferar fordlt # o ot £

(A) gar (B) =g

(C) weme (D) ifire

ieeT U ofawr afte Wy & aftv gt
& ey Rk ) e v 2

(A) afferg

(B) &Hles

(C) Smmes

(D) e

Frfafa & 9 R 2w o wd) <iim

T WA TN W8 87

(A) Tt (B) wiw

(C) afemam (D) ¥

?ﬁhﬁﬂ#ﬁaﬁﬂmwwm

'rb

(A) IS (B) el

(€) ®H (D) e

WY S ¥ gamd o wored @

af wige | afiraiRe vy

Rar mar|

(A) 1978 %44 %

(B) 1989 %614

(C) 19754367

(D) 1992 %734

27 377, 2009, T A WHN & Sdm

HEvEd % daRd ot e (e

qafaml @ g amewr e

wapdt 4

(A) 30% {E} 40%

(C) 50% (D) 60%

SERIES-AD




Q63

Q66

Q67

Q68

Qo9

Enacted on 7 September 2005, the
Mahatma Gandhi National Rural
Employment Guamntee Act (MGNREGA)
in India entitles, by demand, every rural
household toa minirium of

of paid work each year st minimum wage.
(A) 120days  (B) 150days

(C) 180days (D) 100days

The Second Administrative Reforms
Commission (ARC)was constituted on 31
August 2005, as a Commission of Inquiry,
under the Chairmanship of

(A) Lali Tindon

(B) Satya Pal Malik

(C) Veerappa Moily

(D) Padmanabha Acharya

The Constitution ensures the security ofthe
tenure of the CEC and Election
Commissioners. They are appointed fora
six year tetm or continue till the nge of
. whichever is earlier.

(B) 65

D) 67

(A) 60
(C) 62

Which of the following isane of the powers

of Rajya Sabha?

(A) Itmakes laws on matters included in
the Union List and the Concurrent List.
Itean introduce and enact money and
nan money hifls.

(B) Trapproves proposals for taxation,
budgets and anmual financial statements.

(C) lconsiders and approves non money
bills and suggests amendments o
money bills.

(D} Irapproves the proclimation of
emergency.

The artis practiced in the
Mithila region of the Indian subcontinent.
(A) Madhubani  (B) Patachitra

(C) Kalighat (D) Tikubi

THROTRNT
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Q65

Q67

Q69

(C) 180

7 Risfae 2005 7 wRa § wEwen Wik
R A e TRE aftfam
() @ Fear R s
aftrad e it avfio affan & praw
HHgN wEW @ R auaey
wam o &
(A) 1208 (B) 150 &=

(D) 100 &

s e wEw s teamﬂ}
1 oA 31 3 2005 T

-Mﬁaﬁmﬁm#mw

o1

(A) el Sd
(B) wegur e
(C) drew Hige
(D) wsTAr e

wiferT ¥ sl g sige & s
o1 e A wwan &) 3 vr wa @
widea @ e Frge feg o & @

o B g o Fgga e

2, off f wEn 8

(A) 60 (B) 63
(C) 62 (D) 67

fr= 4 9, FR 9 v o ot §
H U 87
(A) TE wer et 2l et aeh | ufia

AT U R T # | 98 6
v ar A% o e o afiv
Y, TN Al B

(B) uB My, Tore 3y ot R
faawolf & weaml 1 sop dar 8

() =% 12 o1 st e Raw afie
S{iEA Fvar 8 o 69 gt §
] G G 2

(D) s STl B Au WY Ao
aar £

S ] 3T N SuREEdy
& fafSrer &= 3 Rear smer &)
(A) wea) (B) wefer
(C) TraERE (D) fear
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Q70

Q71

Q72’

Q73

Q74

Q75

India as a whole has an approximate

populationdensityof people
persquare kilometre,

(A) 416 (B) 325

(C) 573 {D) 289

India is at rank in the World

Bank’s Ease of Doing Business rankings as
on November 2018.
(A) 77
(C) 82

®) 9
(D) 108

The principle of accounting
assumes the business will continue to exist
and function with no defined end date.

(A) Economic Entity

(B) Conservatism

(C) Going Concern

(D} Cost

A accountisagenerl ledger
account relating to Assets and Liabilities
other than people accounts,

(A) Personal (B) Cash

(C) Real (D) Credit

In January 2019, the Defence Acquisition
Council has approved T 40,000 crore worth
proposal to build six bigger submarines for
the navy and 5,000 anti-tank
missiles for thearmy.
(A) Nag

(C) Amogha-1

(B) Helina
(D) Milan2T

As per Transparency International’s
Carruption Perception Index 2018, which
country is the world’s least corrupt country
scoring 88 out of 100 points?

(A) Canada

(B) Germany

(C) lceland

(D) Denmiark

70
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Q70

Q71

Q72

Q73

Q74

Q75

a@mﬁmﬁﬁmﬁam
v ufey of FneiieR # |

B) 325
(D) 289

{A} 05
(€) 573

JdaY 2018 TF TUTE GBI D IR
wieg firmm d% & @R &9 § A
ot &) # @ UY T

) 77 (B) 91

(C) 82 (D) 108

crama & fogi & argaR
Sy A YR SR W e @
aur wE sifem Peffta R =8 anft
(A) snfis gy

I G W 4El W e 8
i it & Wt o s e aRfat
afiy ol W Hafter g 81

(A) afErrTa (B) @&

(C) T (D) =fse

wadl 2019 7, v afrsw qReg A
Hdr @ fore v wd wgfert aur de
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(A) 11

(C) i —1
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88 3f BIfe B g gfar @ e
oW AL 29 87

(A) @ISl

(B) T

(C) AEHeTs

(D) ST

(B) BfeFr
(D) ama 221
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Q76

Q77

Q78

Q79

Q80

Q81

P-A

The first-ever International Day of
was cclebrated on 24

January 2019 as per the resolution passed

by the United Nations General Assembly,

(A) the UN Peacekeeping Force

(B) Education

(C) Forests.

(D) Blood Donors

In January 2019, India’s highest peacetime
gallantry honour, the Ashoka Chakra, was
awarded to Lance Naik

posthumously.

(A) Nazir Wani

(B) Ramaswamy Parameswaran

(C) Karam Singh

(D) Jadunath Singh

Name the winner of the Women's Singles
Australian Open 2019.

(A) SimonaHalep

(B) Sloane Stephens

{C) NaomiOsaka

(D) Jetena Ostapenko

In India, subsidy for the main nitrogenous
fertilizer, urea, is regulated through a policy
wherein it is provided to farmers at a
statutory maximum retail price of

pertonne (5% extra for
the neem coating).
(A) T4.730 (B) T 3,950
(C) T2,480 (D) T 5,360
The Himsagar variety of mango is from
which state? -
(A) Gujarat (B) West Bengal
(C) Maharashtra (D) Uttar Pradesh

Himachal Pradesh is famous for the
production of which variety of mangoes?
(A) Mulgoba  (B) Badami

(C) Chaunsa (D). Kesar
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Q82

083

Q4

Q85

Q86

Q87

Q88

(C) Doob

AlAn is 4 programme or &

computer that connects to and requests
information froma server.
(A) Access < (B) Bridge
(C) Client (D) Captcha
awihu:by tube (CRT) compuiter monitor
is called .
(A) Deworm (B) Dope
(] Dngms (D) Bounce

-
The Windows sound file has the extension
(A) wav (B) sit
(C) wpd (D) dif

The Lion Capital of Ashoka was on & pillar
n_ :

(A) Kamna |

(B) Gautam Buddha Nagar

(C) Sambhal

(D) Sarnath

Which dance form is associated with the
ladies carrying oil laraps on their heads?
(A) Chholiya (B) Chhau

(C) Charkula (D) Dunhal

The Auraiya districtin southemn Utiar Pradesh
is & major producer of )
(A) jageery (B) honey

(C) puredesighee (D) asafoetida(hing)

A naturally growing perennial grass, known

a8 * inthe local dialect, is found

in thefowlands of the Amethi district. Locals
are engaged in making various types of

decorative and household products from this

grass known as Moon] products.
(A) Bahia (B) Sarpat
(D) Durva
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Q89

Q90

Q51

Q92

093

Qo4

P-A

Which of the following districts of Uttar
Pradesh is world famous for the production
and export of carpets, which have distinctive
and outstanding designs?

(A) Mirzapur (B) Ghazibad

(€) Unnao (D) Bhadohi

Namethe famous [ndian tabla player, born
in Kabir Chaura, Varanasi, Uttar Pradesh,
who belonged to the Benares Gharana.
(A) Alla Rakha

(B) Ahmed Jan Thirakwa

(C) ShivkumarSharma

(D) PanditKishan Maharaj

Which saint is regarded as an incamation of
Valmiki, the author of Ramayana?

(A) Goswami Tulsidas

(B) Ramanand Swami

(C) SantRavidas

(D) Swami Karpatri

Name the folk music of Uttar Pradesh mostly
sung during the monsoon months and which
is also reflective of the mood of separation.
(A) Chaiti (B) Giddha

(€) Kajari (D) Kaharwa

Which University established in 1966 in

Kanpur is named afier a Maratha King?

(A) Rajaram Chhatrapati University

(B) Chhatrpari Shivaji Maharaj University

{C) Chhatrapati Shahi 1| Maharaj
University

(D) Peshwa Balaji Bajirao University

Kushinagar, which has the 15
a popular tourist destination for Buddhists.
(A) DeerPark

(B) Mulagandha Kuti Vihar

(C) Tibetwn Temple

(D) Ramabhar Stupa

Q89 F=ifefs 1 @ v w2y W Em W

frar faftre s oepe foonet o
Wﬂtﬁriﬁwmﬁu{niﬁﬁqm

{A)mig! (B) Wity
[C) o=na (D) wE1E

090 il wwdm Tae aeE &1 AW aw
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Q95

QY6

Q98

The Patition of Bengal, (1905), was carried
out by the British Viceroy in India, Lord
™) Mo

(C) Chelmsford

(1) Curzon
(D) Irwin

The Pact was an
agreement reached between the Indian
National Congress and the Muslim League
at the joint session of both the parties in
December 1916.

(A) Lucknow  (B) Kanpur

(C) Allshabad (D) Meerut

Baldev Singh, # member of the Interim
Government, the first government of
independent India was the head of

(A) Defence
(C) Railways

(B)  Education
(D) Finance

At the Parliament of World Religions in
(1893), Swami Vivekananda

spoke about Hindu religion at length.

(A) New York

(B) Chicago

(C) Washington DC

(D) LosAngeles

The Hindu Widows® Remarriage Act, 1856,
also known as Act XV, 1856, enacteid on
26 July 1856, was passed by Lord

(A) Handinge
() Carving

(B) Auckland
(D) Meicalfe

(100 In 1891, BM Malabari’s efforts bore fruit

when the act of the Age of Consent was
enacted which prohibited the marriage ofa
girl child below the age of :
(A) ldyears  (B) 12years

(C) 18 years (D) 16 years
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Reg fen e afifem, 1856 Ford
st XY, 1856 401 o8 wiwn 8. 26

WeE 1856 @1 o gan FoRi +ife
gqr mite B Tar any
(A) &R (B) afidcis
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(3100 1891 % & . enary & warf @
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GENERAL SCIENCE

Q101 A highly recommended food item, broceoli

belongs to the family of which vegetable?
(A) Spinach
(B) Cauliflower
(C) Bottle gourd
(D} Beetroot
Qa2 i5 essential for blood
coagulation.
(A) Folicacid (B) Potassium
(C) VilaminK (D) lron
Q103 anaemia is a life-

threatening condition when a person’s body
doesn’t produce enough blood cells.

(A) Aplastic (B) Carrion

(C) Helico (D) Lassa

0104 Normal levels of white blood eells in bload
is thousand/mm?®.
(A) 0.5-5 (B) 4.5-10
(C) 10-14.5 D) 15-19.5

are an excellent and an
inexpensive protein source and & great
alternative for low-calorie vegetarian meals.
(A) Green leafy vegetables
(B) Berries
(C) Tubers
(D) Beans

Q105

Q106 During the second phase of detoxification in
the liver, attach
themselves to waste molecules and escort
them out of the body.

(A) fats

(B) carbohydrates
(C) phytonutrients
(D) proteins

P-A

AGIERY

Q101 Tt Rywifeer o we arell gy wa,
Arere, wfeat @ fFa oRar 3 Wt
&7
(A) 9/e®
(B) mrmil
(©) i
(D) gFav
Q102 @ e @ for
A .
(A) wifey® arer  (B) drefem
(€) Refm K (D) amaza

HEGHaT

Q103 VRIS U ey dmrd &
forad oo el afda & v gafg
AT A iR @ Pl a8 e
e |
(A) snftes (B) $fvam
(C) &fermr (D) &

Q104 T ¥ wWa @ FiffEsl f amr
e T/ mm’ &)
(A) 0.5-5
(C) 10-14.5

(B) 4.5-10
D) 15-19.5

Q105 WE ®1 Ygre it ave S
2 e B B TR TRl ey &5
st e 2
(A) B9 uwraw wfeoi
(8) A
(C) ®
(D) wifert

Q106 g & fAwsor & ¥ W & @
@ Y] Fufret & A Hea
B Wi § iR 9% iR 9 Wy P
3
(A) T
(B) THEiETEEEH

(C) Fraegdey
(D) W™
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Q107 In India, 45% of the total irrigation and
of domestic water comes from

groundwater reserve.
(A) 69% (B) 40%
(C) 20% D) 80%

Q108 18 karat gold will contain what percent of
other metals like copperor silver?
(A) 18% B) 25%
(C) 2% (D) 5%

Q109 The ratio of the number of pre-molar teeth
to molar teeth in humans is
(A) 2:3 B) 1:2
(c) 2:1 D) 3:2

Q110 Which of the following gases is NOT a
greenhouse gas?
(A) Methane
(B) Nitrogen
(C) Water vapour
(D) Carban dioxide

Q111 Which ofthe following types of coal has the
most carbon content?
(A) Biuminous  (B) Lignie
(C) Peat (D) Anthracite

0112 When water is added to baking powder
gas is released.
(A) oxygen
(B) carbon dioxide
(C) nitrogen
(D) hydrogen

0113 Which of the following substances is coated
on the surface of a NON-stick utensil?
(B) Bakelite

(C) Polyvinylchloride
(D) Teflon

LHTIESE
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Q107 Hrer % B e o1 45% v T i

L e Red @ i 2
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Q108 18 F¥e WA A i wr A S
argeit @1 i wfver @

(A) 18% (B) 25%
(€) 2% (D) 5%
Q109 Wil # apustdoms <l w1 wdv <l
F TR gY@ Bl
(A) 2:3 B) 1:2
@ 2:1 (D) 3:2
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i v Frred 81
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(B) T4 SiEHiaEe
(C) =TS
(D) BrEFIom
Q113 Pr=farfam % & &% W wed @ A
Rrseae a5 woE W dfta e
£511051 =14
(A) sl
B) JaamEe
(C) vishfrmgs wNEs
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Q114 Which property of a sound wave decides its
pitch?
(A) amplitde
(B) shape of the wave
(C) frequency
(D) loodness

Q115 Graphite is primarily made of which of the
tollowing elements?
(4) Silkon
(C) Carbon

(B) lron
(D) Copper

Q116 The hormone insulin is produced by which

gland in ourbody?
(A) Pancreas (B) Liver
{C) Thyroid (D) Adienal
Q117 Plaster of Paris consists of 4 fine white
powder af sulphate.
(A) sodium (B) calcium
(C) magnesum (D) barium

Q118 Chandrayaan-1, india’s first mission to
Moon, was launched successfully on
from, Sriharikota.
(A) 22 October, 2008
(B) 13 December, 2009
(C) 30 March, 2010
(D) 7 July, 2011

is the newest Indian base
in Antarctics that was commissioned in 2013,
constructed outof 134 shipping containers.
(A) Kailash (B) Swabhimaan
(C) Sadbhavma (D) Bharati

Q119

120 India’s first nuclear submarine INS Arihamt
was built at the Navy Shipbuilding Centre at

(A) Kochi

(B) Hazim

(C) Vishakhapainam
(D) Pipavav

P-A
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Q114 wff o & @ e goa ona
W 99 e 87
(A) smam
(B) T @ IR
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(D) €afq % waE

Q115 Iwrge g o 6, Frefefe 4 @ fee
2 o W T &P
(A) Rt
(C) B

(B) @
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Q16 & sEfe R wiR ¥ w1
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(A) aFarerg  (B) IFa
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QU7 wey Hiw gy 7 ehe
U@ WEA OWa Tras? s 6 |
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©) Hffan (D) afww

Q118 dear—1, WEa 1 TR 9¢ g Fee

o EReEr § FeEaEs
gefier fsar wan)
(A) 22 AT, 2008
(B) 13 fasay, 2009
(C) 307, 2010

(D) 79, 2011

Q119 sfemsfem § e & T a9
& ford 2015 # ey R, R
fertor 134 SrETarh St ¥ fvar wan

2l

(A) e (B) Tanir

(C) wmrE (D) =l
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Fiteq % fere =i e
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(121 The range of India’s supersonic missile,
BmhMoas was initially capped at 290 ki as
per obligations of Missile Technology
Control Regime (MTCR), Since India’s
entry into thiselite club, its range has been

extended to |, as per July 2018 test
fire reports.

(A) 350km (B) 450km

{C) 550 km (D} 650 km

Q122 A fasting blood sugar level from
mg/dL is cansidered prediabetes.
(A) 7510 100
(B) 501075
(€) 100t 125
(D) 251050

(123 Coconuts are loaded with fibre and powerful
fatty acids called medium-chain

(A) omega-3 fatty acids
(B) trans fats

(C) polyunsaturated fats
(D) Trighycenides

Q124 Vitamin C deficiency results in a disease
called -
(A) Scurvy
(B) Beriberi
(C) Pellagra
(D) nightblindness

Q125 Berries like cranberries, strawberries and
ruspberries are rich in which dietary mineral?
(A) Tron
(B) Manganese
(C) lodine
(D) Calcium

P-A
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Q121 ive # wenafaw g Fi  3
# wn A femge dgafie Fame
aEval (i flan) @ ud @ AgEN
200 ko W &g Rear Ty o | w2018
T WeIqOT o SR S el dow
HNH B WA B 4% W A @ #

DAL T e Tl E
(A) 350 km (B) 450km
(C) S50 km (D) 650 km

Q122 TUERT T 4TS TR SN BT W
g @ Rl @ feefads s o
gl
(A) 75 ¥ 100
(B) 50975
(C) H00H 125
D) 254950

Q123 TR # 29 afw wlerd $& uitrgw
aga fere wran i B §
RV %E R R
(A) S0TT-3 aXia dpd
(B) 19 =
(C) dielmigics aw
(D) FETEHATS

Q124 fefm C &t o0 | o 39 B 2 o9
e Wl &
(A) wHd]
) #hah
(C) e
(D) el

Q125 99 o Bradl, RN el Rl A e
a1 wiere i o 82
(A) ST
(B) Frita
(C) TS
(D) Dfcaran
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ELEMENTARY MATHEMATICS

Q126 To trave| 624 km, a train A takes 6 hours

miore than train B. [f however, the speed of

the train A s doubled, it would take 5 hours
less than train B. The speed of the train B is:
(A) 39km/h (B) 56.7 km/h
{C) 21,3 Km/h (2 74.5 kem/h

Q127 Onacerain principal if the simple interest
for two years is T 3,200 and compound
interest for the two years isT 3,472, what is
the rate of interest?
(A) 8.50%

(C) 7%

(B) 30%
(D) 22.50%

X LY
Q128 Ii'—z'—ﬁ*i . — 4, then find the biggest value

of xifxiseven,
(A) 4
(C) 2

(B) 6
(D) &

Q129 Select the mostappropriate option 1o solve
the equation:
6719232811 =7
(A) 27440000
(C) 34380000

(B) 26620000
(D} 25540000

Q130 It §* —25* =3 =0, lind one of the values

of x.
(A) /3 (B) 3
(€ 5 D) J5

Q131 Which of the following is the correct
algebraic identity?
(A) bab-cHea(c-apabla-by=(a-b)b-c)(c-a)
(B) befb-chealc-aptabla-bE{ab)b-c)c-a)
(C) befbec)reae-s)ab{a-bi=2(a-b)b-cXc-a)
(D) betb-cHeale-ajtabla-b=2(a-b)(b-c)e-a)

(0132 The length of the diagonal and the breadth
of a rectangle are 12.5 ¢m and 3.5 ¢m
respectively. Find its perimeter,

{A) 32cm (B) 33¢m
(C) 3cm (D) 31em
P-A

35

R4 385

Q126 624 km/h 1 A 9 @ fag, Yam@
AYEITEI BY 6 0¢ s sy adl 8
3T, YA A# Afy e A el 2,
al 99 IR B @ e A 569 @

W W = B i &
(A) 39km/h (B) 36,7 kmh
(C) 213km/h (D) T45km/h

Q127 w it gmun w afy &1 af & fow
| & ¥ 3,200 o 2wl # e
AWl @A TI 4728, T @ A A
87
(A) 8.50%
(€ 17%

(B) 30%
(D) 22.50%

Qi28 af %—5:%-4.a¥xwmmqm
W N Al x @ R4

(A) 4 B 6
(C) 2 (D) 8
Q129 DY G S AT & forq T I
faepey @1 Fus W
6719°-3281° =1
(A) 27440000  (B) 26620000
(C) 34380000 (D) 23540000

QI30 8 37 3.9, x & 3 F A

TH Hod S N
(A) 3 (B) 3
(© 5 @™ J5

0131 fymifafag # 8@ 25 @ v daafeda
Wi 87
(A) bo(b-clcalc-alrab{a-b(a-bXb-c)(c-a)
(B) beb-crcafe-aptabla-bl{a-b)(b-c)c-2)
(C) be(b< Hoafc-a)rabla-b=2(a-bXb-cXc-a)
(D) be(b-¢)tea(e-ajabla-b)=2a-b)(b-clc-a)

Q132 v& ya & ey 3 dard afw e
A 125 em 3R 35em B A
ufifer s )

(A) 32¢m (B) 33cm
(C) 3Mem (D) 31em
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133 What is the measure of an interior angle of a

regular polygon of 24 sides?
(A) 124° (B) 165°
(C) 156° (D) 155°

Q134 Find the areaof a triangle of sides 41 cm, |3
em and 28 cm by using Heron's formula.
(A) 112cm? (BY 132cm?
(C) 126 cm® () 144 cm?*

(135 Find the volume of a right circular eylinderof
diameter 42 cm and height 14 cm?
(A) 18926cm* (B) 17,308 cm’
(C) 19404cm’ (D) 16,326cm’

Q136 Find the surface area of a sphere of diameter
7om?
(A) 148 ¢em? (B) 132cm?
(C) 154 em* (D) 166em?

Q137 The curved surface area and the slant height
of a right circular cone are 363 em” and 11
cm respectively. Find its diameter,

(A) 31.5¢m (B) 2lem
(C) l4em (D 17.5cm

(138 Find the curved surface areaof a hemisphere

of diameter 7 em.
(A} 105.5¢cm (B) 99cm
(C) 70cm (D) 77em

(2139 Select the most appropriate option to solve
the eguation
Ssin66® 2cot55° _,
cos24®  Tan35®

) V-2 B) if"l

i |
© ®) V35

P-A 36

i

Q133 24 Wunell gt ww Frofta sgml @
siafte P @ A F0r 87
(A) 124° (B) 165°
(C) 156° (D) 155°

Q134 ¥¥95 ® g3 @1 I TS 4l em,
15 cm 3% 28 em ] @ v By
&1 AR ST o |
(A) 11Zem? (B) 132¢m’
(C) 126cm? (D) 144 em’

Q135 42 cm W 3 (4 em HaE T {H
WP JENEN A7 H AT T
W |
(A) 18926cm’ (B) 17308cm®
(C) 19404¢em’ (D) 16326cm’

Q136 @R % Uw W W Woas SAwe w0
Y |
(A) HME8cm* {B) 132em’
(C) 154 cn (DY 166 cm?

Q137 0& HAEIY gRISR Y@ @) gIEEr
WE 7 fana aie s Sad
363 em? a3V 1] om B | FHE AN TR

Eodl
(A) 31.5em (B) 21 cm
(C) l4em () 17.5em

* Q138 7 cm N TIH Mg & YAMER W
1 8B S B
(A) 105.5¢cm {B) 99¢em
(©) T0em (D) 77em

ey

Q139 FfiEer @Y &6 v o e we¥ guga
feme 1 =TT T

J3sin66° 2cot55®
cos24®  Tands®

(A) J3-2 (B) %*1

I |
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Q140 Find the height of a tree, if by walking away
from it 10 mina horizomal line through is
base the angular elevation of its top changes
from 60° to 30°.

(A) 53m
(€) 43 m

(B) 6/3m

@ 33m
Q141 Select the most appropriate option to solve
the equation:
(1-2Cos*4d)
(sin AxCos 4)
(A) tanA +cotA
(B) tanA-cotA
(C) secA-cosecA
(D) SecA+cosech
Q142 Select the most appropriate option to solve
the equation :
LM _,

1.6

625x0.032-2x

(A) 9.1
®) 273
(©) 182
(D) 364

Q143 Find the remainder when 75,382 is divided

by 33.
(A) 19 (B) 3
(© 13 (D) 10

Q144 The HCF oftwonumbers is 23 and the other
two factors of their LCM are 29 and 49.

The smaller of these two numbers is :
(A) 66T (B) 619
(€) 723 D) 741

Q145 Whichofthe following numbersis NOT a

prime number?
(A) 281 (B) 409
(C) 541 (D) 437

P-A

T

37

Q140 TH UE T daE T @, afa guw
e 8 U At v A 10 m g g9a
A THP HW B GG DO 60° |
qEATT B 30° i 27
(A) 5Am B) 63m

(€ 4im (D) 33 m

0141 Ry 7y Rest 7 ¢ waEn W 317
(1-2Co0s’ 4)
(sin AxCos A)
(A) tanA +cotA
(B) tanA-cotA

(C) secA-cosecA
(D) SecA-+cosech

Q142 Wi 1 5a BT B [y w4 vy

e & e

625%0.032 - 2%k — 9
16

(A) 9.1

@B) 273

©) 182

(D) 364

Q143 75,382 W 33 ¥ famfira &t W e
E= 15
(A) 19
(Cy 13

@ 3
@ 10

Q144 =1 sl o7 yewH Gads 23 8 AR

I T TIaE @ 3 8 IS
29 aftt 40 & | 39 ST et A 9 018
wer gl
(A) 667 (B) 619
(C) 723 () 741

Q145 Fr=faftes 4 9 @97 0 TEm (S
ey 8 &7
(A) 281 (B) 409
(C) 541 (D) 437
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Q146 If a retailer sells a shirt at T 2.350 and he
rmakes a 6% loss, at what price should he
sell itto make a 6% profit?

(A) T 2450 (B) T 2,550
(C) ¥2,750 (D) T2.650

Q147 Ofthe 5 numbers whose mean is 105, the
firstis 2/5 times the sum of the otherd, The

{irst number 15
(A) 135 (B) 140
(C) 145 () 150

Q148 Ifa merchant offers a discount of 60% on
the list price of an item, then he makes a
loss of §%. What percentage profit will he
miake if he se¢lls that item at a discount of
20% of the list price?

(A) 20%profit  (B) 4% loss
(C) 14% profit (D) 90% profit

(149 Some candidates were selected by a
company aftera hiring process. The ratio of
selected to unselected was 4:1. 1f 70 less
had applied and 30 less selected, the ratio
of selected 1o unselected would have been
6: 1. How many candidales were selected?
(A) 105 {B) 210
(C) 420 () 315

Q150 A does double the work of B in the same
time. If they work together, they candig a
canal in 16 days. [low many days would B
take if he had to dig the same canal working

along?
(A} 24 (B) 36
(C) 60 (D) 48

P-A

SHEL0YE
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Q146 afz ¢ gaa A v wE $132,350
i degaT & s 99 6% 3 s & A
I 6% @y FUE @ e fen aem m
da aifeg?
(A) 22,450
(C) T2.750

(B) 2,550
(D) T 2,630

Q147 5 Wy, forar aftea 105 8 01 @
URel W & 4 W & am

25T & | Eel He gl
(A) 135 (B) 140
(C) 145 (D) 150

Q148 ufe ®1g =N e T o gt e
R 60% T BT UG Fal 8, o 9F 5%
o wif Skt & T e @ 20% B wE
9% g8 gug 494 q¥ I Rherr gl |

BITTY
(A) 20% & (B) 4% s
(CY 14% @ (B3 90% ¢y

Q149 TH FY gaT B UY TG B Uik &
e T FETEaRT B A1 T Ay | s
R srmatia S w1 S 4 1 rn)
e 7059 ST A andes S s afiv
30 &% @ =aiia gy B, o aala i
areafa @ 3w 6 | s Bl feed
SHiTgarl & 9+ fbar 7ar ar
(A) 105 (B) 210
(C) 420 (D) 315

Q150 At & T i BY SR & s
aR A wy wm e E A A 16
&A1 # Us 75y @ wed €| afg s
I A8 @1 WigAl 8 ar B &1

&% e’
(A) 24 (B) 36
{C) 60 (D) 48
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Q151

Q152

Q153

P-A

HIND1

Freferftag we 4, 9w Beei 4 8, 99
et e @ uas & o Ay g are
@ Uoh FE 91 we Rew 8

A9 T g o AEE e FiEE S5
¥ aver &

(A) If wethink about it, the moble phone
is definitely an anathema,

If we think about it, the moble phone
isdefinitely NOT a boon,

1fwe think about it, the moble phone
isdefinitely a boon,

If we think about it, the telephone
isdefinitely a boon.

(B)
(<)

(D)

¥ R w1 999 &1 91 Ry g are
1 i Il s 2

Ha WA U Bla 3 oW faula &
[T W B |

(A) Some Indians face the worst crisis.
(B) All the Indians stand united and fight
(C) All the Indian face the worst erisis.
(D) All the Indians stand united and face

the good ¢risis.

Hel ey 1 g9 Y ol fau Y gy

a1 WEl skl sgaE g

7o feed offwl & & &9 F1 @

ot B B |

(A) some foreign birds are very fond of
traveling,

(B) All foreign birds are very fond of
traveling.

(Cy Some Indian birds are very fond of
traveling.

() Some foreign birds are NOT that
fond of traveling

e e
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Q154

Q155

Q156

Q157

Wl famey @1 Fae &Y ol &y Ty T
1 HE Sl s B

BN EEEE A OEnl @ ganT 98
w=w e

(A) Some people gave this message
through the stones,

Our artisis took this message through
the stones.

Ourartists gave this message through
the stones.

Owrartists given that message through
the stones.

(B)
()

(D)

a8 Rrarey o7 o Y ot aeel @
fory v& i 81

anfe | aie o |

(A) sfa

(B) e

(C) |ETel

(D) wAEH

wl) Pae o1 90 ¢ o aeaEl &
fow T wm R

ot e e S 8

(A) wEs

(B) wawd

(C) W=

(D) @

Fyaifafaa wer 4, 9 Raedl 1 9, 99
Wl e & g9 39 o Yaifea e
% forg aft fawer &)

gd Avn — e @1 q@EE HeRl SR
der € o

(A) uficia

(B) 3@

(C) 3

(D)
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Q158

Q159

Q60

Q161

Q162

P-A

o9 Rwey @ vg7 % 3y ny e
& W e v 2

fqu

(A) BOTH

(B) @

(C) wsA

(D) 3%

99 faweq @ 599 a9 Ry e o=
o Wl TArTEl e g

EEE

wig e A @t ¥ fEver & o gl

i
s
=

oW fewu @ a9 o8 oY @y e o=
o1 95T w9 B

ez

(A) el

@) T

(C) &

@) &

HEared e e geR @ sl @
T 87

(A) AR UHN H

(B) o W @

(C) o uBR &

(D) B8 9HR D

oW fwey o 9 v Wl &y 1 gy
i wdm @ 98 w1 9l Raw 2
T A S9A SY HrdwE A 9
ord @ @

(A) waEETaS

(B) S oW

(C) =% I%q

(D) FoErEs
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Q163

Q164

Q165

Q166

Q167

Q168

E o o e e R e
T B 99 B A A0 e W B
(A) =S

(B) Fif¥fmm ufmm ares

(C) FiEa Hemams

(D) Toraras

S0 T oz O B g R R
i fibar & e grer wd Aee 8
Ew 9@ GieT 46 T

(A) HeVIRIS

(B) T

(C) pEHeTS

(D) e

e W @ e A S ww g0
s s @ 27

(A) SFJER

®) IgTiem

(C) &=

(D) s

el e ) A @ w oo @ ud
wH A e e e
27

(A) aof T

(B) wvf — R

(C) =l

(D) w - A=y

aupTell H WY =il @ s e
87

(A) 25

(B) 30

(€) 20

(D) 35

R -0 @] SEEwe A S o g7
(A) wona

(B) &rrg

(C) wo wea

D) i
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Q169

Q170

Q171

Q172

Q173

Q174

P-A

fBd) weawm ¥ & @ A T ur won

fewng a1 &7
A) 9
@)
) @
(D) &

W

AT PIAT ¥ AT TI0T-TH o B
fore st s fomdit?

(A) TS WEEY

(B) ERIINE T8ed

(C) waw® WElgd

(D) wurgsw AEEY

e Regws 7 Hawwa & 98 &
fom e amaea—u= for?

(A) FHEFR [EEY

(B) Wa® wEiad

(C) HuEs w8ley

(D) afermr) wBiey

a9 TS & Y AERT FSF & aeN
PY SO B¢ o 9 Raems geard
# fiog veandar o9 wwn @ e
frd sde-ua foi?

(A) wFEas ¥Eiey

(B) ¥Hwuw ABiey

(€C) 0 ws afdsrd

(D) sfrwd wigea

e o3 A a8 ¥ Fra—a e
& g

(A) famg

(B) Tar

(C) sif¥ars

(D) RAiw

WUHE A 9 1 Haee w5
(A) @i
(B) #EIeY

(C) wgH
o) fira

41

Passage

A &Y T e & are S ue (Q175
¥ Q179 %) &y m &) g weaiv #)
rryE® vd aftt = et § @ wee
U¥ B G 9T 9ar o991

FHA W T BT 6 SEH oG
Bl & | S =i ' @ wd fimn
e e T R e R e R
e € | UE w1 N sl Aeeayer
® | UF WH 9T anmE grar o w8
UR i g3 W S ey @ wwar
® Oy i g3 WAy e wiemr @
oot | 2= & uitga ¥ swa sige
HEoH B ol BrE g 8" ¥ uay @
Fa Ten W@ O™ 8 98 wfae A
TNE o hardl S B o § | g,
TiEg) S, Sl 3fE A W w1 wgeEn
@Y 3 A e s e R oflem
& wlw au e o Pefar &) @
ol S AWy @ A6 VY U, 3
FAA B el ve WA 81 ' AR
fasm @ o wig vy &b Ram a8
TN | WY B ufy WorTar g o
& forg swnft &) acs Bt o 9y
B B USHMET ZUST Wed IuHm
Fvr Tife |

W B WG B T w87
(A) THE WA TG

(B) |9 arf 5 9

(C) W e S

(D) TR el g

Al $ o W B g st

HTEgs ;i &7

(A) I SEE HERT S & 98 9o
Bt &

(B) WA e & war fRwe 80 8

(C) 0 it wee T B E

(D) aT 95 3 8
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QLT

Q178

Q179

Q180

Q181

Q182

Q183

P-A

wg o R aftes Aeegel il &7
(A) ¥ aad fe e ux e el |
(B) g Wt @ Mo §)

(C) u= arya e amgem oe ey Kl |
(D) wwa a8 Fa |

fim 8 | S @Bes T @
goigard 78 87

(A) W

(B) cwha

(C) B

(D) ®ha=ae

T ST o ey SugE e aan |
(A) wiva+ 3R

(B) BTA g 3w Wi

(C) BIF a7

(D) |HA & FFIE

ST @ AP wygwE g B A

e &7
(A) =
@) o
(©)
(D) ==

areg g e &7
(A) T8

(B) &
(€) Fad

(D) wH

TR @ vae e e
(A) §R

(B) Wamla

(C) #rETona s

(D) @

TSR TS O @) TEA HEET D
fi?

(A) &

(B) wrcaa

(C) ™

(D) Aga

Q184

Q185

0186

Q187

Q188

Q189

o Tar W wefen @ o )
HIF-A) =7

(A) T&d

(B) WETHRIT

(C) g & & 10

(D) warg ud

wé Re & aas w5 o e o B

(A) FUIT A TA W A & D U
& |

(B) &9ar MR 9F U EAH % |

(C) MR UF G &g & Tl |

(D) FIT @ W 9= 0 N & 2

el famet o1 999 T 9 g T 8
(A) T W R WY gE e

(B) @8 W VI U= 8|

(C) Tl ®% g Y81 98|

(D) WaaT 6! a8 AN I WY |

Wl ey o1 999 o o 4% 99 &1
(A) T TR B W

(B) T T T E |

(C). A T BT W |

(D) T S19AT B T |

e e @& 909 @ o g ey #
(A) # apesht @ g T
(B) T ot @ aviF fEan
(C) M ool @1 gdm Ry |
(D) # Toun @ TefE fau

ot faraey @ wae o A gE 919y B
(A) 8% W Ha dEm-or B |

(B) u% ¥ wa do—am® gt

(C) ©7 % W SFH-a BIG |

(D) B% B Wd & B |
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Q190

Q191

Q192

Q193

Q194

P-A

Pl wem 4, = fesel 4 § Ry
T ae9 @1 Wel HE ool @
gE=niag |

afa ¥ wr W ww ggaa o a8
M 7 e |

(A) wifewr yEem

(B) TUEY "E

(C) wEmrFa aiAaH®d

(D) =1 WA

Frterftam g 4, 9 sl 4 & 9w
famen & wos & o @ Yg W
wdr Rws 87

a Wrar =erT ot &1

(A) WREAETE UL

(B) FrgHIaD WE

(C) Yo U

(D) WIgdEs e

fFfeiftas we 4 o e 74 9w
fomreq @1 wa+ &Y o i & wd 9
o1 fawe @i |

T A8 HETR iy |

(A) fRemi

(B) Freeramed

(C) waEm

(D) wiwemel

W W W e, e e R
#=g wfta & fae wanr fsm @ 2
T I TEA B2

(A) Wia=ETED WAH

(B) gvuaTa® W

(C) sifreggaras wdamm

D) FaarEs wdam

ffias Reeat d | S0 70 g &
e 9rea W5 ygai |

qwre arar # aga wef ofl, gwfen
qRTEd ¥ & o |

(A) PRermEs aeg

(B) Vel AE

(C) e ama

(D) Wy qrad

:__. Ililrul'.
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Q195

Q196

Q197

0194

Q199

T o W Ay aa & @
fore fbw fores & wair fban e 272
(A) THE IV

(B) BT g

(€) famw e

(D) Faemm

on faws w1 e & W Ry Ty
TR w o aef &)

TR e |

(AY Frre

(B) Wia @

(C) T T& IFT

(D) =\ &

a9 fdosw &1 9o & @ Ry 1w
HETaY o1 el 3 8

Y UV g 9|

(A) R zd g

(B) g T

(C) TR H

(D) 3 WEHe BT

T fwen &1 ag & @ R
ey &1 e o )
SE—ATS AT W |

(A) UBEE

(B) a5 i Bam s

(C) anvefafdw gFr

) P g I

o e & a9 o @ & 78 e
@1 af) aret ¥y

affe 1 37 7ife B g |

(A) I Ffea

®) 79

(C) Hra THHHT HET

(D) wer =f

SERIES-AD




0200 & fAFew o ¥as o W @y 77 9

w1 wf il aEEE B

e WY TS A eI F

T |

{A) Indiais made self sufficient in the grain
sector,

(B) Indiawas made self-reliant in the grain
sector

(C) Indiawasmade dependent in the grain
sactor,

(D) Indiawas make self reliant in the grain
sector.

)
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Read the following Instructions carefully :

1. Ot of the four alternatives lor esch question: oaly
ane cirele for the coreet poswer iy to be darkened
completely with Black Ball Point Pen an the OMR
Answer Sheet. The answer ance marked 15 pot liable
i he changed

2. The cumdidates should ensure that the Answer Sheel
i nog folded, Do nit make imy stray marks on the
Agiswer Sheet. Do not write your Roll No., Test
Booklet, Test Center Code and Examination Date
unywhere clse except in the specified spuee in the
Anzwer Sheet.

3. Handie the Test Booklet and Answer Sheet with care,
as under no clreumstances (except lor discrepuncy in
Fest Bowklet), another set wiil bie provided,

4. The candidates: will write the correer Test Booklet
Series as given ln the Test Booklet in the Attendance
Sheet

8. Ench condidate must show on'demand his ber Admil
Curd to ihe Invighator

6. Mo candlidate, withoul specinl permission of tha
Superintendent or Invigilatar, should leave hid /her
seal

7. Thie candidates should nol leave the Examination Hall
without handing over thelr Aswer Sheet o Lhe
lavigilator on duty. Cases where 2 candidute hus nol
gigred on the Auendunce Sheet will be deemed pot 1o
have handed over the Answer Sheet and deall with ag
an bnfalr medns case,

B. Usc of Pencil/Electronic/Manual Caleulator is
prohibited.

5. The candidates are governud by ull Rules and
Repulations of the Commission with regard 10/ thistr
conduct in the Examination Hall, All cases of unfair
means will be dealt with as per Rules andd
Regulations of the Commission,

10. After Examination is over, eandidute s i return his
Answer Sheet to invigHator. Invigilator will hand over
the Candidare’s copy to candidate; then only
candidate is allowed to legve the examination hall,
Candidate is only uliowed to take Candidate's copy of
answer sheet.

11, Candidutes are not allovwed b tnke Test Booklib with
them. They have to submlt the Test Booklel to the
tovighiator after the exam,

1, g we @ fay R 7 ar Rewt 4 9
wh oo @ forv S U @ O T W
Fifor Ye Tl @ €1 ) TE Wi A7 Uige
O | W | U I S e By O @
g T g5 T8 T GH £ |

2. udwmel] giftaa ol B SO UH w WA
qa;{qﬂg;wm mmﬁﬂﬁq%ﬁn

mﬂl'lﬁﬂlﬁm !

%wﬁmﬁﬁm,wmﬁrﬁamﬁﬁ

* Raifg e @ afofRen avas = o)

e 4

3. T8 GReTI 79 ST 0F $ AAYIE WA
oy, it Bt N ol A @ya o
qfterat # @t 0t ore ww) gEd 0 Rk
Td GTN UF SYGE 6l mar e |

4, adterr ufirer # &) w0 ofwr gt W
it uenedt uf a9 4 - A

5, Q8 WE 9% welw e, @t aveiiee B
ST waw uE fEEn |

6. anfiaren o e e @ rdw sgafa @
famn v whemel] s Wi T B

7. TANG el aTORRn @ AT ST uE R
fm ofem s wm wE o afy
fredt il & sfofl-mam FEr T8
6T 7 98 A STy @ S 9T 0 A8
werr & & 9§ I anE @ A
WL AT |

8. UFwe /soapiiam / Bt Uaes Bt
Fwan afet 21

o, tien gfa 3 arawy & foro gdemrl s @
wft Frif wd Rt g Prafiv 8 | sefea
aEEt & ol e @ Sear g @
Frat o faffsi @ s g

10. U8 & TUNET IPRT T U e SRS
1 wier & e g el 9 9w
T B S uid gwTa seE ey e
foree guvrT € 3% o et @ i @
gy | ooy o anedt wfty anuell &
A W @ W A

w1 wite @ i el @ ol g ae
arerflers @) sfter® enft | olien yftas #1
ufferrelt o A T8 o o waa 8
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